Q.1 Choose the correct answer from four possible
answers (A,B,C,D) and fill the correct answer on
MCQ's sheet separately.

) The unit of coefficient of friction is:
A) N B) K C) Nm? D) None
i Force needed to produce an acceleration of 20m/s? in a
ballof 2Kgis:
A) ON- B) 8ON C) 10N D) 100N
The angle at which X and Y components of force are
equal is:
A) 0 B) .80 - C) 48— D). g

Two masses are separated by a distance
V) - masses are doubled, the force of mt@@@
two masses changes b
A) 2 f@@ 12 D) 1/4
) W .

A)" 1000J B) L@_xj_q';_.j_
C) 3600J D) 746)

i The temperature at which a body is not radiating any
heat is:
A)OC - B 0F C) 0K D) Althese
The amount of heat required fo raise the temperature of

vu.) 1 Kg of water by 1K is:
A 1 B) 400 C) 3100 D) 4196J

viii)  Liquids and gases are group together are called:

A) - Liquids B) Pascals C) Fluids D) None
iX)  The number of significant figure is 0.00467 is. m
NS B4 03 A6
x)  Which one of the follo @@l ller one?

A) Micr C) Nano - D) Femto
Xi) mﬁmg a speed-tlme graph represents: ‘

A) Acceleration Change in acceleration
C) Distance D) Velocity

il The average speed of a bus is 20ms™, how far can it
travel in 20s.

A) 400m B) 200m C) 1000m D) 800m



